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PHYSICS 
Q.1  What is the magnitude of a point charge which 

produces an electric field of 2NC–1 at a distance
of 60 cm? (1/4πε0 = 9 × 109 Nm2C–2) 

 (1) 8 × 10–11C (2) 2 × 10–12 C  
 (3) 3 × 10–11C (4) 6 × 10–10 C 
 
Q.2 When a slab of dielectric material is introduced

between the parallel plates of a capacitor which
remains connected to a battery, then the charge
on plates relative to earlier charge  

 (1) is less 
 (2) is same 
 (3) is more 
 (4) may be less or more depending on the nature

of the material introduced 
 

Q.3 Refer to the network of figure. Potential
difference VA – VB is  

 

2A C D 

A 

B

3Ω 2Ω 

3Ω 2Ω

 
 (1)  +2V (2) + 1V (3) – 1V (4) + 4V 
 
Q.4 Two long straight wires are set parallel to each

other. Each carries a current i in the same
direction and the separation between them is 2r.
The intensity of the magnetic field midway
between them is  

 
P

 
 (1) 

r
iµ0  (2) 

r
iµ4 0  (3) zero (4) 

r4
iµ0  

PHYSICS 
Q.1  ,d fcUnq vkos'k dk ifjek.k D;k gS tks fd 60 cm

nwjh ij ,d fo|qr {kS=k 2NC–1, mRiUu djrk gS?
(1/4πε0 = 9 × 109 Nm2C–2) 

 (1) 8 × 10–11C (2) 2 × 10–12 C  
 (3) 3 × 10–11C (4) 6 × 10–10 C 
 

Q.2 tc ,d ijkoS|qr iVVhdk dks ,d lekUrj iVV
la/kkfj=k dh IysVksa ds e/; izosf'kr djk;k tkrk gS] o
bl nkSjku cSVjh la/kkfj=k ls la;ksftr gh jgrh gS rks
iwoZ vkos'k dh rqyuk esa IysVksa ij vkos'k-  

 (1) de gks tkrk gS 
 (2) leku jgrk gS 
 (3) vf/kd gks tkrk gS 
 (4) de ;k vf/kd gks ldrk gS ;g izosf'kr djk;s

x;s inkFkZ dh izd`fr ij fuHkZj gS  
 

 
Q.3 fp=k esa n'kkZ;s usVodZ ds lanHkZ esa foHkokUrj

VA – VB gS-  
 

2A C D

A 

B

3Ω 2Ω 

3Ω 2Ω

 
 (1)  +2V (2) + 1V (3) – 1V (4) + 4V 
 

Q.4 nks yEcs lh/ks rkjksa dks ,d nwljs ds lekUrj fLFkr
fd;k x;k gS] izR;sd esa ,d /kkjk i leku fn'kk esa
izokfgr gS] buds e/; i`Fkdrk 2r gS nksuksa ds chp esa 
e/; fcUnq ij pqEcdh; {ks=k dh rhozrk gS-  

 
P

 
 (1) 

r
iµ0  (2) 

r
iµ4 0  (3) 'kwU; (4) 

r4
iµ0  
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Q.5 A paramagnetic material is kept in a magnetic
field. The field is increased till the
magnetisation becomes constant. If the
temperature is now decreased, the magnetisation 

 (1)  will increase 
 (2) decrease 
 (3) remain constants  
 (4) may increases or decrease 
 

Q.6  A copper rod of length l is rotated about one
end perpendicular to the uniform magnetic field
B with constant angular velocity ω. The induced
emf between the end is   

 (1) 
2
1 Bωl2 (2) 

2
3 Bωl2 (3) Bωl2  (4) 2 Bωl2  

 

Q.7  The core of any transformer is laminated to 
 (1) increase the secondary voltage 
 (2) reduce the energy loss due to eddy currents 
 (3) make it light weight 
 (4) make it robust and strong 
 

Q.8  A light ray incident normally on a plane mirror

suffers a deviation of  

 (1) Zero   (2) π/2 (3) π (4) 2π 
 

Q.9  An object is placed at a distance of 10 cm from
a concave mirror of radius of curvature 0.6 m.
Which of the following statements is incorrect?

 (1) The image formed at a distance of 15 cm
from the mirror 

 (2) The image formed is real 
 (3) The image is 1.5 times the size of the object 
 (4) The image formed is virtual and erect 

Q.5 ,d vuqpqEcdh; inkFkZ ,d pqEcdh; {ks=k esa j[kk gSA 
{ks=k dks c<+k;k tkrk gS tc rd fd pqEcdRo fu;r 
gks tkrk gS ;fn vc rki dks ?kVk;k tkrk gS rks 
pqEcdRo-  

 (1) c<+sxk  
 (2) ?kVsxk 
 (3) fu;r jgrk gS  
 (4) c<+ ;k ?kV ldrk gS 
 

Q.6  ,d rkack NM+ dh yEckbZ l gS ;g blds ,d fljs ds 
ikfjr% ,d le:i pqEcdh; {ks=k B ds yEcor~ fu;r 
dksf.k; osx ω ds lkFk ?kw.kZu dj jgh gSA NM+ ds 
fljksa ds e/; izsfjr fo|qr okgd cy gS-   

 (1) 
2
1 Bωl2 (2) 

2
3 Bωl2 (3) Bωl2  (4) 2 Bωl2  

 

Q.7  fdlh VªkalQkeZj dh ØksM iVfyr dh tkrh gS- 
 (1) f}rh; d oksYVst dks c<kus ds fy, 
 (2) Hkaoj /kkjkvksa ds dkj.k ÅtkZ gkfu dks de djus 

ds fy, 
 (3) bldk Hkkj de djus ds fy, 
 (4) bls etcwr o taxjks/kh cukus ds fy, 
 

Q.8  ,d izdk'k fdj.k ,d lery niZ.k ij vfHkyEc 
:i ls vkifrr gS] ;g fdj.k dks.k ...... fopyu ds 
v/khu gS-  

 (1) 'kwU;  (2) π/2 (3) π (4) 2π 
 

Q.9  ,d oLrq ,d vory niZ.k ftldh oØrk f=kT;k 
0.6 m. gS] ls 10 cm dh nwjh ij fLFkr gSA fuEu esa 
ls dkSulk vlR; gS? 

 (1) izfrfcEc niZ.k ls 15 cm dh nwjh ij fufeZr gksrk gS

 (2) fufeZr izfrfcEc okLrfod gS 

 (3) fufeZr izfrfcEc] oLrq ds vkdkj dk 1.5 xquk gS 

 (4) fufeZr izfrfcEc] vkHkklh o lh/kk gS 
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Q.10  Electromagnetic waves are transverse in nature is
evident by  

 (1) polarisation (2) interference 
 (3) reflection (4) diffraction 
 
Q.11  The momentum of an electron of wavelength

100 Å is  
 (1) 6.6 × 1026 kg s–1 (2) 6.6 × 10–23 kg s–1 
 (3) 6.6 × 10–26 kg s–1 (4) 6.6 ×1023 kg s–1 
 
Q.12  The longest wavelength that a single is ionized

helium atom in its ground state will absorb is 
 (1) 912 Å   (2) 304 Å 
 (3) 606 Å  (4) 1216 Å 
 
Q.13  If the radius of an orbit is r and the velocity of

electron in it is v, the frequency of electron in the
orbit will be  

 (1)  2πrv (2) 
vr
2π  (3) 

π2
vr  (4) 

r2
v
π

 

 
Q.14  Identify the gate in the figure 

 

 
 (1)  AND  (2) XOR 
 (3) NOR  (4) HAND 
 

Q.15  For TV broadcasting, the frequency employed is
normally 

 (1) 30 – 300 MHz (2) 30 – 300 GHz 
 (3) 30 – 300 kHz (4) 30 – 300 Hz 
 

Q.10  fo|qr pqEcdh; rjaxsa vuqizLFk izd`fr dh gksrh gS ;g 
lk{; feyrk gS-  

 (1) /kzqo.k }kjk (2) O;frdj.k }kjk 
 (3) ijkorZu }kjk (4) foorZu }kjk 
 
Q.11  ,d bysDVªkWu dh rjaxnS/;Z 100 Å gS bl bysDVªku dk

laosx gS-  
 (1) 6.6 × 1026 kg s–1 (2) 6.6 × 10–23 kg s–1 
 (3) 6.6 × 10–26 kg s–1 (4) 6.6 ×1023  kg s–1 
 
Q.12  og nh?kZre rjaxnS/;Z tks ,d ,dy vk;fur ghfy;e 

ijek.kq ewy voLFkk esa gS] vo'kksf"kr djsxk] og gS- 
 (1) 912 Å   (2) 304 Å 
 (3) 606 Å  (4) 1216 Å 
 
Q.13  ;fn ,d d{kk dh f=kT;k r gS o blesa bysDVªkWu dk osx

v gS rks d{kk esa bysDVªkWu dh vko`fr gksxh-  

 (1)  2πrv (2) 
vr
2π  (3) 

π2
vr  (4) 

r2
v
π

 

 

Q.14  fuEu fp=k esa n'kkZ;s rdZ }kj dks igpkfu;s- 

 

 
 (1)  AND  (2) XOR 
 (3) NOR  (4) HAND 
 

Q.15  TV izlkj.k ds fy;s mi;ksx dh xbZ vko`fr lekU;r% 
gksrh gS- 

 (1) 30 – 300 MHz (2) 30 – 300 GHz 
 (3) 30 – 300 kHz (4) 30 – 300 Hz 
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CHEMISTRY 
Q.16  A non-volatile electrolyte dissolved in an 

aqueous solution in same molal proportion as 
non-electroyte produces 

 (1) Same colligative effect 
 (2) No colligative effect  
 (3) Lower colligative effect 
 (4) Higher colligative effect 
 
Q.17  An ionic compound has a unit cell consisting of 

A ions at the corners of the cube and B ions on
the centre of the faces of cube. The empirical
formula of the compound is- 

 (1)  A3B  (2) AB3 
 (3) A2B  (4) AB 
 
Q.18  A dilute aqueous solution of Na2SO4 is 

electrolysed using platinum electrodes. The 
products at the anode and cathode are 

 (1) S2O8
2–   (2) O2, H2 

 (3) S2O8
2–, Na (4) O2, Na 

 
Q.19  The differential rate law for the reaction 
 H2 + I2 → 2HI is  

 (1)  –
dt

]H[d 2  = –
dt

]I[d 2 = + 
dt

]HI[d
2
1  

 (2) 
dt

]H[d 2  = 
dt

]I[d 2  = 
dt

]HI[d
2
1  

 (3) 
dt

]H[d
2
1 2  = 

dt
]I[d

2
1 2  = –

dt
]HI[d  

 (4) –2
dt

]H[d 2  = –2
dt

]I[d 2  = + 
dt

]HI[d  

 

CHEMISTRY 
Q.16  ,d vok"i'khy fo|qr vi?kV~;] fo|qr vuvi?kV~; ds 

leku] leku eksyy vuqikr esa tyh; foy;u esa 
?kqfyr gkssrk gS rFkk nsrk gS- 

 (1) leku v.kqla[;d izHkko 
 (2) dksbZ v.kqla[;d izHkko ugha nsrk gS  
 (3) v.kqla[;d izHkko dks de djrk gS 
 (4) v.kqla[;d izHkko dks c<+krk gS 
 
Q.17  vk;fud ;kSfxd esa ,d bZdkbZ dksf"Bdk gS] ftlesa ?ku 

ds dksuks ij A vk;u rFkk ?ku ds Qyu ds dsUnzks ij 

B vk;u mifLFkr gSA ;kSfxd dk ewykuqikrh lw=k gS- 

 (1)  A3B  (2) AB3 
 (3) A2B  (4) AB 
 
Q.18  IysfVue bysDVªkWMksa dks iz;qDr dj Na2SO4 ds ruq 

tyh; foy;u dk oS|qr vi?kVu fd;k x;kA ,uksM 

rFkk dSFkksM ij mRikn Øe'k% gS- 
 (1) S2O8

2–   (2) O2, H2 
 (3) S2O8

2–, Na (4) O2, Na 
 
Q.19  vfHkfØ;k H2 + I2 → 2HI ds fy;s vody nj fu;e 

gS-  

 (1)  –
dt

]H[d 2  = –
dt

]I[d 2 = + 
dt

]HI[d
2
1  

 (2) 
dt

]H[d 2  = 
dt

]I[d 2  = 
dt

]HI[d
2
1  

 (3) 
dt

]H[d
2
1 2  = 

dt
]I[d

2
1 2  = –

dt
]HI[d  

 (4) –2
dt

]H[d 2  = –2
dt

]I[d 2  = + 
dt

]HI[d  
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Q.20  Which one of the following is not applicable to
the phenomenon of adsorption ? 

 (1) ∆H > 0  (2) ∆G < 0 
 (3) ∆S < 0  (4) ∆H < 0 
 

Q.21 Galvanizing of iron sheets is done by 
 (1) Cu plating (2) Zn plating 
 (3) Ag plating (4) Tin plating 
  

Q.22 Which among the following elements have the
higest ionisation energy? (whose electronic
configuration is given below) 

 (1) [Ne]3s2 3p2 (2) [Ne]3s2 3p3 
 (3) [Ne]3s2 3p1 (4) [Al]3d10 4s2 4p3 
 

Q.23 The oxidation number of manganese is
maximum in  

 (1) MnO2   (2) MnSO4 
 (3) KMnO4  (4) K2MnO4 
 

Q.24 IUPAC name for K2[PtCl6] is 
 (1) Potassium hexachloroplatinate (II) 
 (2) Potassium hexachloroplatinate (IV) 
 (3) Potassium hexachloroplatinate (I) 
 (4) None of these 
 

Q.25 SN2 mechanism proceeds through the
intervention of  

 (1) Carbocation (2) Transition state 
 (3) Free radical (4) Carbanion 
 

Q.26 When enthanol is heated with conc. H2SO4 at
410 – 413 K, the product is  

 (1) Diethyl ether (2) Ethane 
 (3) Ethene  (4) Butane 
 

Q.20  fuEu esa ls dkSulk dkjd vf/k'kks"k.k ds izØe ds fy;s 
ekU; ugh gS ? 

 (1) ∆H > 0  (2) ∆G < 0 
 (3) ∆S < 0  (4) ∆H < 0 
 

Q.21 vk;ju 'khVks dk xsYosuhdj.k fuEu ds }kjk gksrk gS- 
 (1) Cu IysfVax (2) Zn IysfVax 
 (3) Ag IysfVax (4) fVu IysfVax 
  

Q.22 fuEu esa ls dkSuls rRo dh vk;uu ÅtkZ mPpre gS? 

(rRoksa ds bysDVªkWfud foU;kl fn;s x;s gS) 

 (1) [Ne]3s2 3p2 (2) [Ne]3s2 3p3 

 (3) [Ne]3s2 3p1 (4) [Al]3d10 4s2 4p3 
 
Q.23 dkSuls ;kSfxd esa esaxuht dh vkWDlhdj.k la[;k 

vf/kdre gksrh gS-  
 (1) MnO2   (2) MnSO4 
 (3) KMnO4  (4) K2MnO4 
 

Q.24 K2[PtCl6] dk IUPAC uke gS 

 (1) ikSVsf'k;e gsDlkDyksjks IysfVusV (II) 
 (2) ikSVsf'k;e gsDlkDyksjks IysfVusV (IV) 
 (3) ikSVsf'k;e gsDlkDyksjks IysfVusV (I) 
 (4)  buesa ls dksbZ ugh 
 

Q.25 SN2 fØ;kfof/k fuEu ds lfEefyr gksus ds lkFk lEiUu 
gksrh gS-  

 (1) dkcZ/kuk;u (2) laØe.k voLFkk 
 (3) eqDr ewyd (4) dkcZ_.kk;u 
 

Q.26 410 – 413 K ij ,FksukWy dh lkanz H2SO4 dks lkFk 
xeZ fd;k x;k] rc izkIr mRikn gS-  

 (1) MkbZ ,fFky bZFkj (2) ,Fksu 
 (3) ,Fkhu  (4) C;wVsu 
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Q.27 Compounds A and C in the following reaction 
are  

 CH3CHO
OH)ii(

MgBrCH)i(

2

3  →  (A)  → ∆,SOH 42  (B) 

    → oxidation
ionHydroborat

 (C) 
 (1) Identical (2) Positional isomers 
 (3) Functional isomers (4) Optical isomers 
 
Q.28 Aniline in a set of the following reactions yielded 

a coloured product 'Y' 

     

NH2

NaNO2/HCl 
(273-278K) 

X N, N-Dimethylaniline Y
 

 (1) 

CH3

HN NH HN

CH3

 

 (2) 
 
H3C N=N NH2   

 (3) 

 CH3

HN N=N NH

CH3

 

 (4) N=N N
CH3

CH3
 

 
Q.29 Fructose has which functional group 
 (1) Ketone  (2) Aldehyde 
 (3) Carboxylic (4) Ester 
 
Q.30 Rayon is a 
 (1) Natural polymer (2) Synthetic polymer 
 (3) Semi-synthetic (4) Biopolymer 
 

Q.27 fuEu vfHkfØ;k esa ;kSfxd A rFkk C gS  

 CH3CHO
OH)ii(

MgBrCH)i(

2

3  →  (A)  → ∆,SOH 42  (B) 

    → oxidation
ionHydroborat

 (C) 
 (1) ,dleku (2) fLFkfr leko;oh 

 (3) fØ;kRed leko;oh (4) izdkf'kdh leko;oh 
 
Q.28 fuEu vfHkfØ;k esa ,uhyhu ,d jaxhu mRikn 'Y' nsrk 

gSSSA 'Y' gS- 

     

NH2

NaNO2/HCl 
(273-278K) 

X N, N-Dimethylaniline Y
 

 (1) 

CH3

HN NH HN

CH3

 

 (2) H3C N=N NH2   

 (3) 

CH3

HN N=N NH

CH3

 

 (4) N=N N
CH3

CH3
 

 

Q.29 ÝDVkst esa dkSulk fØ;kRed lewg gksrk gS- 

 (1) dhVksu  (2) ,fYMgkbM 
 (3) dkcksZfDlfyd (4) ,LVj 
 
Q.30 js;kWu gS- 

 (1) izkd`frd cgqyd (2) la'ysf"kr cgqyd 
 (3) lseh-la'ysf"kr (4) tSo cgqyd 
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BIOLOGY 
 

Q.31  What is correct about amniocentesis ?  
 (1) Post natal diagnosis 
 (2) Withdrawal of allantoic fluid from pregnant

women  
 (3) Chemical analysis of fluids of pregnant

women 
 (4) Culturing amniotic cells and study of

chromosomes to identity chromosomal
abnormality 

 
Q.32  Coacervates are -  
 (1) Protobionts having polysaccharide + protein

+ H2O 
 (2) Protein and lipid aggregates 
 (3) Protein aggregate 
 (4) None of the above 

 
Q.33  Which of the following stages are found in

ovary of female human child at the time of birth 
 (1) Oocyte & Ovum 
 (2) Oogonia & Spermatogonia   
 (3) Oogonia & secondary oocyte    
 (4) Primary oocyte 
 
Q.34  What is correct w.r.t. geological time scale of

evolution -  
 (1) Trachaeophytes are direct ancestors of

chlorophytes 
 (2) Progymnosperms gave rise to seed ferns 
 (3) Gnetales have evolved from seed ferns 
 (4) Psilophyton are ancestors of zosterophyllum 

BIOLOGY 
 

Q.31 ,fEuvkslsUVsfll ds ckj esa D;k lgh gS ?  
 (1) izlo i'pkr~ tk¡p  

 (2) xHkZorh efgyk ls ,ysuVkWbd nzO; dk iru 
 (3) xHkZorh efgyk ds nzo dk jlk;u fo'ys"k.k 

 (4) ,fEuvkWfVd dksf'kdkvksa dk lao/kZu rFkk xq.klw=kh; 

vlkekU;rk dh igpku ds fy, xq.klw=kksa dk 

v/;;u  

 
Q.32 dksljosV~l gksrs gS – 

 (1)  ikWyhlsdsjkbM ;qDr izksVksck;ksUV + izksVhu + H2O 

gksrs gS 
 (2) izksVhu o fyfiM ds lfEeJ.k 

 (3) izksVhu lfEeJ.k 

 (4) mijksDr esa ls dksbZ ugha  

 
Q.33 tUe ds le; euq"; ds eknk cPps ds v.Mk'k; esa 

dkSulh voLFkk,sa ikbZ tkrh gS   

 (1) ÅlkbV o v.Mk.kq   
 (2) Åxksfu;k vkSj LiesZVksxksfu;k   
 (3) Åxksfu;k vkSj f}rh;d ÅlkbV    

 (4) izkFkfed ÅlkbV   

 
Q.34 mn~fodklh; HkkSxksfyd le; ekid ds lanHkZ esa 

dkSulk lR; gS :  

 (1) Vªsfd;ksQkbV~l] DyksjksQkbV~l ds izR;{k iwoZt gSa 

 (2) izksftEuksLilZ ls chth; QuZ dh mRifÙk gqbZ 

 (3) usVsYl dh mRifÙk chth; QuZ ls gqbZ 
 (4) flyksQk;Vksu] tksLVsjksQk;ye ds iwoZt gSa 
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Q.35  Which one of the following is the most widely
accepted method of contraception in India, as at
present ? 

  (1) IUDs (Intra uterine devices)  
  (2) Cervical caps  
  (3) Tubectomy  
  (4) Diaphragms 
 
Q.36  If for some reason, the vasa efferentia in the

human reproductive system get blocked, the
gametes will not be transported from- 

  (1) Vagina to uterus  
  (2) Testes to epididymis  
  (3) Epididymis to vas deferens  
  (4) Ovary to uterus 
 
Q.37  Fill up the blanks – 
  I- The primary lymphoid organs are ___ and ___ 
  II- Heroin commonly called "smack" is

chemically _____ 
  III- ______ tumors remain confined to their

original location and do not spread to other
parts of the body  

  IV- The immune system comprises _____ cells
and _____ cells 

  (1) I-bone marrow & thymus ; 
   II-diacetylmorphine ; 
   III-benign ; 
   IV-B,T  
  (2) I-bone marrow & thymus ; 
   II-diacetylmorphine ; 
   III-malignent ;  
   IV-B,T  
  (3) I-bone marrow & thymus ; 
   II-benzodiazepenes ; 
   III-benign ;  
   IV-B,T  
  (4) I-M.A.L.T.; 
   II-diacetylmorphine ; 
   III-benign ;  
   IV-B,T 

Q.35  fuEu esa ls dkSulk ,d vkt ds le; esa Hkkjr esa
lcls T;knk Lohdk;Z xHkZfujks/ku dh fof/k gS \ 

  (1) IUDs (vUr% xHkkZ'k;h ;qfDr) (Intra uterine devices)
  (2) xHkkZ'k;h Vksih ¼Cervical caps½  
  (3) V~;wcsDVkseh ¼Tubectomy½  
  (4) Mk;Ýke (Diaphragms) 
 
Q.36  ;fn fdlh dkj.k ls ekuo tuu ra=k dh 'kqØokgd

vo:) gks tkrh gS rks ;qXed LFkkukUrfjr ugha gksaxs&
  (1) ;ksfu ls xHkkZ'k; 
  (2) o`"k.k ls vf/ko`"k.k  
  (3) vf/ko`"k.k ls 'kqØokgd  
  (4) v.Mk'k; ls xHkkZ'k; 
 
Q.37  fjDr LFkkuks dh iwfrZ dhft, & 
  I- izkFkfed ylhdke; vax ___ ,oa ___ gksrs gSa 
  II- gsjksbu tks lkekU;r% "LeSd" dgykrh gSA

jklk;fud :i ls _____ gksrh gS  
  III- ______ xkaB vius okLrfod LFkku ij gh jgrh

gS ,oa 'kjhj ds vU; Hkkxksa ij ugha QSyrh gS  
  IV- izfrj{kk ra=k esa _____ dksf'kdk,a ,oa _____

dksf'kdk,a gksrh gS 
  (1) I-vfLFk eTtk ,oa Fkk;el ; 
   II-MkbZ,flVk;y eksfQZu ; 
   III-v?kkrd ;  
   IV-B,T  
  (2) I-vfLFk eTtk ,oa Fkk;el; 
   II-MkbZ,flVk;y eksfQZu ; 
   III-?kkrd ;  
   IV-B,T  
  (3) I-vfLFk eTtk ,oa Fkk;el ; 
   II-csatksMkbZ,tsfiu ; 
   III-v?kkrd ;  
   IV-B,T  
  (4) I-M.A.L.T.; 
   II-MkbZ,flVk;y ekfQZu ; 
   III-v?kkrd ;  
   IV-B,T   
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Q.38  Which one of the following is not correctly
matched ?  

 (1) Culex pipiens – Filariasis 
 (2) Aedes aegypti – Yellow fever 
 (3) Anopheles culicifacies – Leishmaniasis 
 (4) Glossina palpalis – Sleeping sickness 
 
Q.39  Hyaluronic acid is present in - 
  (1) Human sperm  
  (2) Ovary  
 (3) Ovum covering of the female  
 (4) A type of protein of blood 
 
Q.40  Homologous organs are : 

  (1)  Wings of cockroach and wings of bats 

  (2)  Wings of insects and wings of birds 

  (3)  Air bladder of fishes and lungs of frog  

 (4) Pectoral fins of fishes and forelimbs of horse

 
Q.41  In angiosperms the pollen grain is normally

liberated at :   
 (1) One cell stage 
 (2) Two celled stage 
 (3) Three celled stage 
 (4) Four celled stage 
 
Q.42  Removal of introns and joining the exons in a

defined order in a transcription unit is called 

 (1) Splicing (2) Tailing 

 (3) Transformation (4) Capping 

Q.38 fuEu esa ls dkSulk lgh lqesfyr ugha gS ?  

 (1) D;wysDl ikbfiUl  – fQykfj,fll  

 (2) ,Mht ,ftIVh  – ihyk cq[kkj 

 (3) ,ukQhfyt D;wfyflQsfll – yslesfu,fll  

 (4) Xykslhuk isYisfyl  – funzk jksx 

 
Q.39  gk;,Y;qjksfud vEy mifLFkr gksrk gS & 
  (1) ekuo 'kqØk.kq esa  
  (2) v.Mk'k; esa 
 (3) eknk esa v.Mk.kq vkoj.k esa  
 (4) jDr esa ,d izdkj dh izksVhu  
 
Q.40  letkr vax gS & 

  (1) frypês ,oa pexkn<+ ds ia[k  

  (2) dhV ,oa if{k;ksa ds ia[k 

  (3) eNyh ds ok;q vk'k; ,oa es<+d ds QsQM+s  

 (4) eNyh ds va'k ia[k ,oa ?kksM+s ds vxz ikn 
 
Q.41  vko`rchth;ksa esa ijkx d.k lkekU;r% eqDr gksrs gS-  

 (1) ,d dksf'kdk voLFkk esa 

 (2) nks dksf'kdk voLFkk esa 

 (3) rhu dksf'kdk voLFkk esa 

 (4) pkj dksf'kdk voLFkk esa 
  
Q.42  vuqys[ku bdkbZ esa lqO;ofLFkr Øe esa bUVªkWu dk 

gVuk ,oa ,DlkWu dk tqM+uk dgykrk gS- 

 (1) LIykbflax (2) iqPNu 

 (3) :ikUrj.k (4) vkPNknu 
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Q.43  A double heterozygous tall plant with yellow
colour (colour of cotyledon) is selfed the ratio of
dwarf plants with green cotyledon is - 

 (1) 
16
1   (2) 

4
1  

 (3) 
6
1   (4) 

16
2  

 
Q.44  Food levels in an ecosystem are called 
 (1) Trophic levels (2) Consumer levels 

 (3) Producer levels (4) Herbivore levels 

 
Q.45  Biogeochemical cycling refers to cycling of  
 (1) Energy in the ecosystem 
 (2) Nutrients in the ecosystem 
 (3) Water 
 (4) Gases between plants and animals 
 
Q.46  Protective layer of ozone in the atmosphere

exists in which layer 
 (1) Troposphere (2) Lonosphere 
 (3) Stratosphere (4) Atmosphere 
 
Q.47  Identify the correct match between 'National 

park' and its state   
 (1) Corbett – Madhya Pradesh 
 (2) Palamau – Orissa 
 (3) Manas – Assam 
 (4) Bandipur – Tamil Nadu 

Q.43  ,d f}fo"ke;qXeth yEcs ,oa ihys chti=k jax ds 

ikni dk Loijkx.k fd;k tk, rks ckSus ,oa gjs 

chti=k okys ikni dk vuqikr D;k gksxk - 

 (1) 
16
1   (2) 

4
1  

 (3) 
6
1   (4) 

16
2  

  

Q.44  ,d ikfjrU=k esa [kk| Lrj dgykrk gS- 

 (1) iks"kd Lrj  (2) miHkksDrk Lrj 

 (3) mRiknd Lrj (4) 'kkdkgkjh Lrj 
  
Q.45  tSoHkw jklk;fud pØ fdlds pØ.k ls lacaf/kr gS-  

 (1) ikfjra=k esa ÅtkZ 

 (2) ikfjra=k esa iks"kd 

 (3) ty 

 (4) ikniks ,oa tUrqvksa ds e/; xSl 
 
Q.46  okrkoj.k esa vkstksu dh lqj{kk ijr fdl ijr esa 

ik;h tkrh gS- 

 (1) {kksHke.My (2) yksuksLQs;j 

 (3) lerki e.My (4) ok;qe.My 
 
Q.47  'jk"Vªh; vHk;kj.;' ,oa muds jkT;ks ds fy, lgh 

feyku dks igpkfu, -  

 (1) dkscZsV – e/;izns'k 

 (2) ikykekÅ – mM+hlk 

 (3) eukl – vklke 

 (4) ckafniqj – rfeyukMw    
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Q.48  A cybrid is a hybrid carrying  
 (1) Cytoplasms of two different plants 
 (2) Genomes and cytoplasms of two different 

plants 
 (3) Cytoplasms of two different plants and 

genome of one plant 
 (4) Genomes of two different plants 
 
Q.49  In plant biotechnology, root tumours are induced 

in plant using the bacterium 

 (1) Agrobacterium rhizogenes 

 (2) Agrobacterium basilis 

 (3) Rhizobium 

 (4) None of these 

 
Q.50  Gene therapy is not used for treatment of 

following disease :   
 (1) Down syndrome  
 (2) Alkaptonurea  
 (3) Phenyl ketonurea  
 (4) Severe combined Imnuno deficiency syndrome
 

 
 

Q.48  lkbfczM ,d izdkj dk ladj gS ftles - 

 (1) nks fHkUu ikniks ds dksf'kdk nzO; 

 (2) nks fHkUu ikniks ds thukse ,oa dksf'kdk nzO; 

 (3) nks fHkUu ikniks ds dksf'kdk nzO; ,oa ,d ikni 

dk thukse 

 (4) nks fHkUu ikniks ds thukse 

 
Q.49  ikni tSorduhdh esa] ewy xk¡B dks fdl thok.kq ds 

mi;ksx }kjk mRizsfjr fd;k tk ldrk gS- 

 (1) ,xzkscSfDVfj;e jkbtksftUl 
 (2) ,xzkscsfDVfj;e csflfyl  
 (3) jkbtksfc;e 
 (4) buesa ls dksbZ ugha 

 
Q.50  thu FkSjsih dk mi;ksx fuEu esa ls fdl jskx ds 

mipkj ds fy;s ugha gksrk gS &  

 (1) Mkmu flUMªkse 
 (2) ,YdsIVksU;qfj;k  
 (3) fQukbyfdVksU;qfj;k   

 (4) lhfo;j dEckbUM bE;quks MsfQfl;sUlh flUMªkse  
 

 
 
 

 


